Math 3 Benchmnrk 1 Review

I.  What is the apparcnt solution 1o the sysiem of
equations graphed below?
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C. 2,-2) D, o solution

A (=2,-2)

2. Which of the following best describes the graph

of this system of equations?

* m =-2i 43 i
.\Jw. nwpn.v.m-h %._ - M\ uav
r\.ﬂb two identical lines
B. 1wo paralle] lines

C. two lines inlersecling in only one point

D. iwo lines inlersecting in only (wo points

3. Members of a senior class beld a car wash 1o tse

funds for their scmor prom. They charged 53 w0
wash a car and $5 10 wash a pick-up wuck or a
spoit utiliny vehicle If they carned a wtal of 53275
by washing a total of 75 vehicles, how many cars
did they wash”
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Which system of lincar inequalitics ix represcnted
by this graph?

A A?N.TQ. B m.ﬁbrtf.

" 2r=2 ygr=1

e Layz]
x+ys2 @ r=y2>1

5. What is the solution to the following system of

equutions?

- ,J.lw‘...lau
dr4ye= =6

A (5.-D) B. (-2.%)

o

Yo 36y =6
Y% * .\.m,
D
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D. (-2,-1)
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A sysiem of inequalives is shown.

=y>=2
r+y<l

Which I or

! ) {s) possibl
solutions to this system of mequalities’

A Quadrant |

B. Quademnts | and Il

C. Quadranis 11 and 111

Use the system of inequalilics 1o answer the question.

ysa+|
y>»=3e=2

Which graph shows the solution 1o this system of incqualities?
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The compuier lab offers classes after school, In
addition 10 an hourly rate, &, a registration Ice, |,

15 charged. The equations below maodel the cou

for a ~.:o£“w..a a 3-hour class,

._ i+ f =65

+f =90
What i charged for the regist fee?
@ B. %25 C. 33 D. $40

9. M 4 notchooks and 3 packages of pens cost 5743
and S notebooks and 7 packapes of pens const
$7.03, what s the cost of | notebook?

\“'!JJ)..
A S0R9 B S079 C. 5129 D. SILw
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10, Whit s the value of x i the solution 1o the
following system of equations?

A+y=5
L+oy=12
A a=d4 B ox=3[C x=2 D a=1
i
!.lll.l\

1. What is the value of x i the solution of the
system of cquations bolow?
r\

X+
12, What wre the solutions for the quadralic oguat i
2 :
£+ tus 16?7 /..u.vn.rlmh.ﬁs
: 2\ O
(xre)x2 ,

K= y= 20
y=h

A =2 -B L]
- e - 2
[« )2, -8 w0 b s
% = ok
13 Which expression shows the complele facton cation
of 127 - 147

A (x—THdx + 2) B (4e=2)3:+7)

C Ru-7asn (D) H-THueT)

; N A
__\L__,o+.wm utwr_\auv
oV = 203V
AN 0L 1P
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. Which of the following is one of the factors of
the eapression below?
=25
A (-5 B, (Zc+ 1)
C (=N @ (-5
15 What is the factored form of the expression below?
216
,\Inw (x=d)x +4) B. {(x—-8}v+38)
C (x=d-4) D (x =B} -¥)
16, Sohwe the cquation below,
m+H=0
i S B c=0,1=4
C x==4 D =4
17 Whach of these shows the following expression
factored completely? .w m.uumpnw.m o \_b,d
5 - L
ecetn=36 3 o Tfax 4 ._ﬁv
A (2r= e+ 4) B. (b4 O =d)
CC) Mlo-Wr+d) D 2o+ 3y -4)

I& Which of these is 4 prime factor of m® = 18w 4+ 307
A m-5 B m+5
C m+b G m? — 18 + 30
19, Which of these s a factor of the polynomial
below?
/ ur? = 12 + 4 J
- Y i
PINEE R4 RO §
A dm=2 B, Im+2
C 3m-) D Im-4
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10 determane &, the

leap fron the groun 1 seconds
| m ho= —100 4 24
Lo How muny seconds would il wke for the Kangaroo
4 B C
X - MU.N\I. - W\% o reach its maximum height from the ground?
2(-W) = .
( 3 A 025 sccond () 075 second
o C. 150 seconds D. 175 scconds

2l

A kangaroo in n single hop can ieach a maxinum
height of ¥ feet. The equation below can be used
n feet af 1he kangaron's

Which of the fullowing expressions shows the

fuctors of 647 = 18+ = 240¢7

.Xu B i Yo
A ba(a? = Ja 440y

@ (k- 8)x+ 5)

ala) _
Lﬂw A, mlﬂ B,

et
Y

@ I +._é D.

Solve: A2 +dy+ U= xﬂ

Q (=243, —2-iv3)}

B {-246, ~2-6i)
C -2+ VT35, -2-T3)
L. {~2+v3, -2-3}

23

l—ttor— Al = 5)
D. Gl + 8)x = 5)

—y2J1c-40)(7)

=2

-y onJrd0
>

-y £2.§5

2
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24 Which choice shows the solutions to the equation

el 4 A= =72 e x* 3+ F0
-32 I3 34 V213
e \ 16
. 324233 144233
¢ =YY
16 16
-3t
XH
2(8)
25, The expression " is equivalent 10

37 Eapress in simplest forng in terms of £; V=128

LT m&mﬂh
: 8.5

I (=2,7) 15 the maximinn point on the graph of
y==2¢ —dac+ & then k cquals

B ¥ @Iu D. 18
< &?ﬁu&u;ﬂ
1»..{4.1.& +M
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29. Which of the following represents the graph of the cquation below? 30. The graph of the ﬁca__auﬂxulwula;n:aia Kl 4
below. -
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\ 32. Which quadnalic function, when graphed, has
r-imercepis of 4 and =3t

A v=(x=3)x+4)
@ v = (x4 3H2c = 8)

C. y=(x—1}4x+1)

D. y={x+1¥& -2)

33. What are the real roots of the function in the
graph?

34, Jenny is solving the equation «f —Br = 9 by
compleung the square. What number should be
added 16 both sides of the cquation 10 complete

the square?
B 4 C & e

A2

35, What 1s the nature c— :ﬁ roods of the equation

Snl = 4n + 67 L—l. m ()
._o.p\{hh

B one real, rational rool
_/Hv two real, irrational roots _.O ; L\WUVN|®J

D. two real, rational oot | ) mu

A wo imaginary rools

36. W+ +2+bi)=5-4i, the value ol b 15

B. 2 @ D. 6
-y

2+ b =

1
3T The expression (2 + 3i) is equal w L+ _GL.

s
+9.

“Galde

A, -5 B. 13
\.n. 54120 D 1341%

38, The esprossion ww.. s cquivalent w0 * .Wh
- a-3.
A ~6+9i i 6+ 9
13 13
. —6-0i 69
€ 5 BER

39, What s the range {all possible y-values) of the
function y = &% — 9 il x is any real number?

A, all real numbers except 1
B.  all real numbers creept ~3

all real numbers greater than o eyual w 9

qu__ real numbers greater than or equal w0 ™9
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40. Which of the following sentences is true aboul the
graphs of y = u‘.nsmi and y=Xr+ 57 +1?
.\)\ Their verlices are maximuims.
@._? graphs hane the same shape with ditfcrent
verioes

A" The graphs have differcol shapes with different
yerines

One graph has a verten that 1 a maximum,
while the other graph has a verics that i a
minimum,

Which ordered pair v the weniex of
= +br+5?

@ (=3, =) B (-2.-3)

C -0 D (0,-5

42. What 1 the veriex of the quadraisc funclion
y= o= 3 +47

A iS50 B 0,-5)

\\y_—..&_ n

(-14

43, Whih function has zcos ot 2 and 57

{ <2 xS

\L\,wuﬁ.ou.&_c A y=F -
Hn.u_..m.ru_n D y=sf-3-10

44, Which of the following Jescribes the wolutionds)
of 3 ="
o+ 0 .VK + tﬁtlv

A, wo ranonals

(& oo s

C. 1wy complcy mumbers

Bi-4 TJT@

it

D. nonc of these

(u.v....mn.«r

LA

LA

pape ¥

45. Which of ihe following cquations describes
parabola with veriex {=1,2) and focus _ru.l_c‘...\ _

1
A Pabi=-5Sr+59=0

B F+ti+hi-4=

0 g
~ -
Qf.:‘h?lﬁbo -~ r_r

D d-m+h-B=0 €= .N
£

46, 'Ihe graph of the function f(x) = ~2x+ 3P ~& m
a parabola with axvis of symmetry and vertex:

A 1==3 (3, -4 B. «sf2, (-3,-4)

@ =-3(-3,— D

§1 The paratola ¥ = 12 + 61+ 4 15 shified 6 vnitx 10
the :-_4. amd 4 units op. WHere 15 (he verey mow?

X: 43 (Do

A re =9)
C 16,9) D. (-4 1)

3 (4.-h

I What 1 the value of the exprossion?
e 2

Vedi i Ex %
A mh @ xe'y?

(A A N3ty

o ot «\Ma, vh,v

A {2+ o204 W20 k)

B 2 forda + 200+ F)
C - oaat » doc + 2

@+..x.—&..|u! +c)

S What o the gresicst common factor of
1S = My e My ?




